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Mathematics Question Series 1/ ltem: 21
Name: Pate:
Topic: COMPLEX NUMBERS - CARTESIAN

Question 1 [3 marks]
One of the roots of z> — pz+¢ =0, where p and q are real, is 3 -, find p and ¢.

Question 2 [5 marks]

Find the value of z given that: z2 -y +2Z=3 +4i

Question3 {1+1+1+2+1+2=38marks]

If zy = 1+ 2iand z, = 3 —i, then find:
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(b) (z)(zy)
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(d)  (z, +20)(EZ, - 2))

() argz,

Question 4 [4 marks]

Given that x + 2 is a factor of X° — 2x% — 3x + 10, find the other factors.
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Name: Date:

Topic: COMPLEX NUMBERS - CARTESIAN

Question 1

Z2—pz+q= [z~ (3 -z - (3 +i)]
= 22 _73+0)—2z(3-i)+9-i?

= 722 _62+10
p=6andq=10
Question 2
z(2-i)+2Z = 3+4i
X+iy)2—i)+2(x—iy) = 3+4i
Ox—ix+ 2y —i%y + 2x -2y = 3 +4i
4x +y—ix = 3+4i
4x+y=3 and-x =4
x=-4 and y =19
z=-4+19i

Question 3
(a) 4+
(b) 5 + 5i

(c) 0.1i+0.7i

()  (zq+2)(Zy—2) = (1+4)3-1)

= 7+ 11i

(e) /5 o0r2.24 (2dec. pl)

4] arg zo, =—tan

Question 4
X2 —4x+5

~1% = —0.32 (2 dec.pl) or —18.43°

X+2 )x3 —2x*-3x+10

x3—2x2~3x+10

(x + 2)(x2 — 4x + 5)
(x+2)x—2+)x-(2-0
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Question 5
a b _
1-i —  1+i = 3i-1
a(1 +1) b(1—i) L
A=+ ~ (T+)1-0) = 3i-1 [1]
atia b-ib .
2 - 2] = 3i—-1 [1]
a—-b +h
2 =-1 and az =3 [1]
a=2 and b=4 [1]
Question 6
(a)
lz+] = |z-(2+0)
|[x+iy+i] = [x+iy—(2+0)]
[x+(y+Di| = {(x=2)+(y-1)i 1]
X2+ (y+1)? 2(x=2)* +(y-1)° [1]
X2+ Y242y +12 X2 —4x+4+y? -2y +1 [1,1]
4x+4y > 4
Xx+y =21 [1]
(b)

(1

(3+5+8+4+4+6=30marks)
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